PART-I

Language of Chhattisgarh BeterTg h T
- When is Chhattisgarhi Language Day 1. SrETG! HTNT e el T St 27 |
celebrated?
A. 5FESK
A. 5 November .
, 14 7Es
B. 14 November B
C. 28 November \_C< 28 TR
D. 15 November D. 157EK
. Identify the Languages with 2, :ﬁ%ﬁqwajrﬁﬁ%arrrrrﬁ%ﬁwﬁ
Devnagari script from the list given AT} ST UETT-
below- .
Sanskrit '
i S K) ==
K) Hindi .
i (L) s
(L) English
: M) st
(M) Braj |
: we oo I4-
Choose the correct option-
. FaAJIK
A. Jand K Only A
‘ L
B. Jand L Only | B. FaerJ ML x
C. J,KandL ' C. J,K3MWL «
D. J,Kand M BT, KM
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3. For the below Assertion [As] and
Reason [R] choose the correct
alternative-

Assertion [As] : No dialect can be
imagined without grammar.

Reason [R] : Through a grammar less
sentence, the Speaker’s feeling cannot
be conveyed to the listener in the same
form.

A. Both [As] and [R] are true, and
[R] is the correct explanation of ,
[As].

B. Both [As] and [R] are true, but [R]
is not the correct explanation of
[As].

C. [As] is true, but [R] is false.
D. [As] is false, but [R] is true.

et B . HR] % fg

FT [As] : form smemcor 3 fopeft siveft 1

PR : oo faete arr @ e

T BT HY 38t 5 3 sy e 7 Rt
S1k:c I P

A. [As] 3T [R] T wmr R
[As]ﬁﬂ'tﬁ?ﬂr@m%l

B. [As] ¥ [R] 3 & ¥, s [R],
[As] 1 H&T AT 76 3|

C. [As] T 8, Afh [R] srEeg )
\ D TAs] 3T 8, fe [R] §ea )

4. The antonyms of ‘Toothless’ (V)

. Gilla (fre=m)

. Datla (gae)

Py S e—
A. fire=T
\ Baad
C. H3oTeT
D. fieea

In this sentence “Oha bikkat dheer
rengaia taay” (3711 fererene it Trgam

dm), what kind of word ‘bikkat’
(ferrepe) is?

A. Adverb

B. Indeclinable word

C. Verb

D. Pronoun

5. wamE T “3ier feshe it irgar ae |
\ A Topan ferraor

B. 3™

C. femam

D. T&AW
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. Match the following_

Column-I

6. frafaftaa =t gafoa e

e Column-II
(Region) (Dialect)
(a) Northern (D) Halbi
Chhattisgarhi ~ (Bastari)
(Fe=ht
(Sl
(b) Western (II) Laria
Chhattisgarhi (<ifm)
(c) Eastern (ITT) Khaltahi
Chhattisgarhi (G2
(d) Southern (IV) Sargujiha -
Chhattisgarhi (wferEn)

Choose the correct answer from the
options given below-

A. a-IV, b-II1, c-I1, d-I
B. a-1I, b-III, c-1V, d-1
C. a-IL, b-III, c-I, d-IV"
D. a-L, b-III, c-I1, d-IV

-1 TeH-11
&) GISI)
(a) STd BT (1) el ()
(b) et adftedr (1) @fen
(c) i BfEm@l  (IIl) Teer
(d) sfeoft stEgt (V) wafsEr
Fr= e e foreret # & Tl I -

\)%-IV, b-111, ¢-11, d-I

B. a-IL, b-III, c-IV, d-1
C. a-11, b-I1I, c-I, d-IV
D. a-L b-III, c-11, d-1V

Y

. In Chhattisgarhi language the word
‘Bhandar’ means-

A. North direction
B. South direction
C. East direction

D. West direction

7. SerEd o feR Y76’ T I B
5
\ A SR e
B. afeor feem
C. T femm
D.. qftem feem
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8. In Eastern Chhattisgarhi (Lariya) this 8 q;d:f : |
language has an influence of- %
A. Marathi A &
B. Bundeli t
' B. ﬂé?fﬁ 2
C. Bhojpuri
| ©C. WIS
D. Odia ; _
9. Identify the nouns from the given 9. fewmg el & HT wrea ol TR
words- Hfm
B i g sy
(K) achaari (=) - ®) i
(L) ans (379) (Lj sifr o
(M) aisan (3z9) M) FEH X
Choose the correct option- et frepea -
'A. Jand K Only 2 ' il
B. L and M Only
B. @ LTEM
C. J,Kand M . ; %
C' J1 Kq.a- M N
p. J,KandL
\ DT KWL
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10. Directions : For the below Agsertion 10. Frdr - e fw e sifiverem [As] 3R
[As] and Reason [R] Choose the T [R] 3 fore wet forere giT-

correct alternative-

- A [As] : BTG H T IR W
Assertion [As] : In Chhattisgarhi Both - !

‘Sh’ (31) and “Sh’ (W) are not required. A T
Reason [R] : In Chhattisgarhi both of SBR[ : AT
these are pronounced as ‘S’(®). wah v
Select the correct answer from thé e feg e ferehed ﬁﬁgﬁm—?ﬁ'
options given below- !
\W] 3 [R] S T §, 3T [R],
; A. Both [As] and [R] are true, and [As] $ ge AT B

[R] is the correct explanation of

[As]. B. [As] 3R [R] 3F & &, @fe [R],
B. Both [As] and [R] are true, but [R] [As] 1 @ e T e

is not the correct explanation of C. [As]¥ 3 A [R] S 3

[As].
C. [As] is true, but [R] is false. D. [As] 318 i, [R] & &

D. [As] is false, but [R] is true.

11. How many Languages / dialects are’ @@?ﬂ‘ﬂ‘ﬁﬁa’ﬁﬂﬁﬁﬁﬁﬂﬂ ayraTd / sfert

currently in use in Chhattisgarh? S 87 @
A. 90 i 2
B. 91 B. 91 X
e
C. 92

BT

D. 93
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12. In the given sentences which one
contains active voice?

(9 Ram chitti phadat he (T feredt
%*a%}

(K) Oman attik akan likharin (30
Afereh are fomashe)

(L) Gaav mor le jaaye jathe (FTTa 7K
NELE D)

(M) Mein paani peethon (H 9T+t e

Choose the correct option- o~/

A. J,Kand L

B. K,Land M

C. J,Kand M

D. J,Land M

12. et fow e et & ehfares 7 R 2-
0) Whgdweas -
(K) 3T 3tk 37k forasfa A
(L) TIia | & ST Smer *
(M) o ot oo

A. J,KTE@L X

D. J LT@M X

e B
13. Which Proverb js appropriate for

“trouble comes more to the one who is
already in trouble”?

A. “Dubbar bar do Asadh Hoge”
(“ISR ST 374G B

B. “Aati ke Dhoti, Jaati ke Langoti”
(“3ATel o e, m?ﬁ%wﬁé’r )

C. “Buda ke Kahat he nahkauni de”
(“TTST % HTed & TEhIHI 27

D. “Chhiye bar na kode bar, Dhare
bar Khokhla” (“f&3 st 7 31S =, zﬁ:

at@‘naa?)

13. “fauemreg safed X o fagey 3mr %

\ AT T 3 7TE B
B. 3Tl o 4ireft, SIrelt 3 sy
C. “S3T% Fed & TehHT 2
D. “BAMIFR =, it o Graa
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. Match the following_
Column-I Q_O_lll_m_n_:ll

(2) Molaaawande . (1) Necessity
GISIEICERS) sentence

(b) Haman daund (II) Imperative

nai salgbo _ sentence
(T G5 7% Tahar)

(c) Wo chal dehe (IIm) Ability
(EI"I Hﬁé%) sentence

(d) Tola ka chahi (IV)Perfect
GISIED EIN)! sentence

Choose the correct answer from the
options given below-

A. a-IIl, b-1, c-II, d-IV
B. a-IV, b-11, c-III, d-I
C. a-Il, b-I1I, c-IV, d-I
D. a-I, b-1V, c-1, d-11

14. frfifan #1 giferm A

FHTAH-1 HTer-11
(a) MATIEHT (1) AAIHAT I=F
I

(b) TATHZAT (1) T AT AR
Hehal

(c) AEAIR  (III) " areh

ClCo)

(d) A HF AR (V) ol Tereh a1

Frer e e foreredt 7 & w3 -

A. a-Ill, b-I, c-1II, d-IV

B. a-IV, b-I1, ¢-111, d-I

V(%n, b-IIL, c-IV, d-I

D. a-I, b-IV, c-I, d-II

+ Identify the Chhattisgarhi numeral

15. i fow o gt & & Seftee) demaras

words from the list given below- YISaT I TETT-

() Giyara (frm) ) fEm &

(K) Chauda (332T) WKy S3aT

(L) Pandra (9s1) L) dem

(M) Barah (IR®) . 94{) g

Choose the correct option- et faeey -

A. Jand K Only A. ¥aaJ 3K

B. Jand L Only B, Saer )ikl

C. J,KandL

D. J,K and M VMKS#{L
D. J,K3RM

— NN
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T A Y ST TN 3ewT
16. Dr. Narendra Dev Verma Prepared an 16. <. F= 3 7 T e—
important research book on the origin CAECALA H'E!c?ﬂff vy 2 fer o 4
and development of Chhattisgarhi foper ifesty o & feRam?

Language under the Guidance of

whom among the following? A. BT

A. Grierson \}/ﬁahq'ﬁzm AR {

B. Kavyopadhyay Hiralal

C. ST J91E 91
C. Jagannath Prasad Bhanu
D. 7. WEE HEET

D. Dr. Ramesh Chandra Mehrotra

17. Arrange the following dialects spoken 17. seiame J el ST areft = fae Ty
in Chhattisgarh in ascending order N T S aTell Y SHEEAT

according to the population of

SO LT hH H SHTST-
speakers-
(K) Sargujiha (K) weiE
(L) Central/Original Chhattisgarhi (L) s/ seeet
(M) Kudukh/Uraon - ; M) Fg@/3ta
(N) Sadari ) Ha_frh
(O) Halbi ; "

A. LoM—>N—->0->K
A. L->-M>N->0-K

VB M-5>N50H5K L

C. NoOsK—>Lo>M

B. M>N—>O0O—->K-L
D

_ 0—>K->L—>M->N
D. O>K—->L—->M-—>N

o0 0O (O Space For Rough Work / T %@ ¥ o wmre OO0
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3. Arrange the development of Offy
[ anguage Chhattisgarhi in Sequence-

(K) Ardhamagadhi
(L) Prakrit

(M) Eastern Hindji
(N) Apbhransh
(0) Chhattisgarhi

A. L>-M->N-sO05k

w

e

N>O->K->SL3sM

~

L—)N——)K—)M-__)O

18. TSTHTST SeTETTET o forhTe 1 3hH &

SHTET-
(K) arefqmreht

(L) *mepd

(M) T e

(N) 379U

(0) @Rl

A. L—aM—>‘N—>O—>K
B. K>L->N->0->M
C. N> O—->K—->L->M

W7 L>NoK M0

. Who among the following has

examined and edited Dr. Shankar
Shesh’s manuscript ‘Linguistic study

of Chhattisgarhi’?

A. Bhalchandra Rao Telang
B. Dayashankar Shukla

C. Dr. Babulal Shukla

D. Hanumant Naidu

<. ot 91 i wigRAfY “TtEd
VTG TSI o1 UieT0T Ud a1

e o 9 forem forar 22
A. YTTEsUE 9T X
B. SRR A X

\ ST, ATEET

. The suffix used in the word

‘Chaukhadia’ (=F@fear) -

A. Diya
B. Iya

C. Ya

D. Khadia

D. egﬁ?rm-s;x -
20. <Rafear sreq F T YT # -
A. fer
B
C. o
D. @fe )
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PART-I
General Knowledge HTHT JH

21. Which of the following is a leap year? 21. feiferfad & & - T a9 87

o 2007 A. 2007
B. \2008 \,B-/ 2008
C. 2009 C. 2009
D. 2010 D. 2010
22. Goods and Service Tax (GST) was 22. 9Ra # GST, A¥Td@ aﬁﬁﬁmﬁﬂm
implemented in India on- - -
7/
A. 11 July 2016 A. 1152016
B. 1 July 2017 \ B 1 T 2017
C. 1 April 2016 C. 1312016
D. 1 January 2017 D. 1502017
23. Arrange the following in 23. fforfaa st e 4§ ferfe-
chronological order- 7 (X) ga;ﬁ-m:[
(K) Tulsidas - . (L) TS TR T
(L) Raja Ram Mohan Roy N o« &
(M) Swami Vivekananda | T %
(N) Dayanand Saraswati (N) TS HeEad
(0) Kabir (0) FR \
A. K5>L->M->N-O0 , A. K5L>M->N->O0
B. K5>0->M—->N->L B. K5O->M—->N-L ‘
C. 0OoK->L->N->M VMOF}K_)I::?_LW |
D. O5L->M—->N—->K p. 0oL->M->N->K
OQoe % ‘
co O O Space For Rc:mghWorlc/T':F-"F'?H;ﬂ_"%ﬁm-t’r §E
-

10-1210-WSWK25-REFC-MOR . |“"Ill“”l“""“"‘loﬁ 41 Setd



4. Match the following 24. f=faRad =t gafaa Fifsme-

| -1
LAl Column.1 -1 -1
(a) Treatyiof (I) Battle of () e By O e
Paris Buxar _Hﬁ]_ = .
FATETEE H EIY (1) FARFH I ¢
(b) Treaty of (I,I) Clarrighis (b) T (1) eI I v
Allahabad . Wars () A @t (1M aawaﬂggg:g: 1
(c) Treaty of (IT) Anglo- (d) HameEm A (V) S-TE I8
Bassein Mysore Wars dfer
(d) Treaty of (IV) Anglo- / - .
Srirangapattnam Maratha = feg g forenedt § & T W ?\;!3[_
Wi A. a-IV, b-L, c-II, d-III
Choose the correct answer from the
options given below- \/9.411, b-1, ¢-IV, d-1II
A. a-IV, b-1, c-II, d-III C. a-III, b-1, ¢-1I, d-IV
B. a-II, b-1, c-IV, d-III g

C. all, b-1, c-I1, d-IV
32
D. a-1, b-Il, c-I1I, d-IV

. Where were the 28" Olympic Games 25. 28 9 3fcifU @ﬁﬂf_ﬂl’q‘lﬁﬁ ferz T

held? ‘ 97

A. Sydney A. faet x

B. Seoul \/B/%i'ﬁ
C. ¥ x

C. Athens i
D. T

D. London

5?, 0000 SpaCCFOTRoughWOkawmaﬁ%a’W Q0o
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26. For the below Assertion [As] and

Reason [R] Choose the correct
alternative-

Assertion [As] : Ice is better in cooling
than 0°C of water.

Reason [R] : Ice absorbs extra energy
in the form of latent heat of fusion
during melting.

A. Both [As] and [R] are true, and
[R] is the correct explanation of
[As].

B. Both [As] and [R] are true, but [R]

_ is not the correct explanation of
[As].
[As] is true, but [R] is false. J
[As] is false, but [R] is true. "

C.
D.

26. F= RUTE e [As] 7 10T [R] 3 faw

et o gfie-
Fo [As] : Foreft g 1 ST G o forg

a1t 0°C 3 1T 9 ST B 81\
HRUT [R] : ST T 9T 0 FAT R
a8l V7
\ A TAs] 3¢ [R] 3T & & 3T [R],
[As] ot et e B
[As] 37% [R] EHi @7 &, Wl [R],
[As] ¥ &€ =aTE T 2l
C. [As] 9 &, AfsT [R] T8 &l
D. [As] 376 &, A [R] T &

27.

i10-1 210-WSWK25-REC-MOR

ol

Directions : For the below Assertion
[As] and Reason [R] Choose the
correct alternative- _
Assertion [As] : Within the earth,
metals exists in a Molten state.
Reason [R] : The Earth absorbs the

rays of the sun.

A. Both [As] and [R] are true, and
[R] is the correct explanation of

[As].
B. Both [As] and [R] are true, but [R}.
is not the correct explanation of
[As]. |
[As] is true, but [R] is false.
D. [As] is false, but [R] is true.

a

27. fadw : 9= feu T e [As] T HRU [R]

o forg el fershet gfT-
U [As] : T2t & ST aTqe Mferd
I A Bt gl Vv
HROT [R] - Jeet g i oot =ht arereitfee |
WA TAs] ¥ [R] AT e €, 3R], |
[As] T & ST R
\%”[?\s] 3R [R] 2R e &, AR [R),
/ [As] G =TE 76 R
C. [As] &cF &, AfehT [R] 30 2l

D. [As] 3@ 2, AfiF [R] T 2

00O Space For Rough Work / 16 & & ford stTe O ggas
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. Match the following ang choose th

e
correct aNSWer from the code given
below-

Column-I

Column-I1
(a) Hawa Mahal (D Hyderabad
(b) Charminar (II) Abﬁ

Mountain

(c) Dilwara Temple () Jaipur
- (d) Akshardham
Temple

(IV) Gandhi
Nagar

A. a-I, b-1I, c-III, d-IV
B. a-lIl, b-1, c-II, d-IV
C. a-Il, b-I1I1, c-1, d-IV

D. a-1V, b-11, c-1, d-III

28. fiwferfaa =t gAfera Hifvre o 9 e
U e § Fel 3T AT
-] -1

OB G

() e vEd

(a) E{HT'%'E'T

(b) IRHAR |
(c) ﬁaa@nﬁt : (II) SR

(d) YW HEGT — (IV) TithaR

A. a-], b-Il, c-1II, d-IV

\/MH, b-l, c-I1, d-IV

C. a-ll, b-III, c-I, d-IV

D. a-IV, b-II, c-1, d-III

PN
. What is the maximum penalty for an @ AT T AR fufem % agd Taa

office providing incorrect information SR 23 a1t e 1 Jferay
under the Right to Information Act? ﬁhTﬂT S
A. 500 rupees

A. 500 ¥,
B. 5,000 rupees

| \B5,000%.

C. 15,000 rupees
IS, 95, 000 rogpee C. 15,000 %.

D. 25,000 &.

1210-WSWK25:REC-MOR
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30. For the below Assertion [As] and

Reason [R] choose the correct
alternative-

Assertion [As] : The Narmada River is
west-flowing river.

Reason [R] : The Narmada River falls

into the Bay of Bengal.

A. Both [As] and [R] are true, and

[R] is the correct explanatlon of
[As].

B. Both [As] and [R] are true, but [R]
is not the correct explanation of
[As].

C. [As] is true, but [R] is false.
D. [As] is false, but [R] is true.

\ e TAs] T &, 3 [R) sraer

f%m:!ilé’rﬁmfﬂwaﬁ- i
T [As] :?ﬂar#rtrféaqeaam
& aTelt T2 R’y

A. [As] 37 [R] 31 W , e ),
 [As] okl TE} SATET R

B. [As] 3R [R] aﬁ'rw%,%m
[As] T w8t =TET T 8

D. [As] 37 &, A [R] T

31

Viral diseases are-
(J) Cholera

(K) Tuberculosis
(L) Polio

(M) Chicken Pox

Choose the correct option-

A. L and M Only

B. K,Land M
C. L and K Only

D. J,Land M

31.

. S;,A./%HLQM

fersroy sifa A &
a TMX
) @REX
(L) difer
(M) It aa
e forehe o-

B. K,LIM ¥
C. FTLIK ¥

D. J,LIM *

. C] 1 .:'
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. Arrange the arrival of the
- major European Countrig
chmnologlcal order-

(K) British

(L) Portuguese

(M) French

(N) Danish

A L>N->KosMm
B. Lo>K—> N —>M
c. KoL->MoN

$1n India in

F

32. A9 few g srge e 3t 3 s

ST T THHES, hifeTa-

(K) 3B

(L) Tt

(M) SiEtEt

(N) efr

A. Lo-N—>K->M
\)V'L——>K—~>N—>M

C. KoL->M—->N

D. NoL->K—->M

Election Commission of India in the
correct order-

(K) Revision of electoral rolls.

(L) Delimitation of constituencies.
(M) Issuance of election notification.
(N) Filling of nomination papers.
(0) Voting and counting of votes.

A.LoOK->M—->N->O0
B. KbL>M—>N-S0
Cc. LoM—>K—>N->O0
D. M5 K—>L—>N->0

. Arrange the procedures adopted by the

(33 e e v st vt

yfsheTeit a1 @ ShH H TS

(K) e gt 1 g

(L) Foatrg e e,

M) g:najﬁraqﬁmgjmamv

(N) THieh 9 STRIS Tl

(O) HAEH F HATUAI

A. Lo K->M->N->0
B K-5>L->M->N-O

C. LoM>K—->N-O
\,B/M%_K—)L%N—)O/

The first newspaper of Chhattisgari
‘Chhattisgarh Mitra’, started
publishing-

A. From Pendra
B. From Raipur
C. From Champaran

- D. From Durg

34. TG T TH GHER 9F SHEg e
SRTIRTA BT & goT-

AT E
B. TORH
C. JURoTH
D. FiH

o0 O () () Space ForR

10-WSWK25-REC-MOR
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35. Which day is the longest day of the 35. aﬂq-mﬁquaaﬁag;ﬁqamb |

year? M—aﬁ ¥ 7 s
t -
e A1 B. 21 faer -

B. 215 September -
. 22 e
C. 22" December c -

D. 14" January D. 14~‘=F|a'fr/<

36. World Day for the prevention of Child
- Abuse is celebrated on-

A. 14 November
B. 19 November
C. 12 June

D. 11 October

37. Which of the following are examples
of renewable energy sources?

(J) Solar Energy

(K) Wind Energy

(L) Coal

(M) Nuclear Energy
Choose the correct option-
A. J,Kand L

B. Jand K only

C. Jand L only

D. K,L and M

aseroova |
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i I:::c!ig it; ;h(f):rgoelrl ?;itﬁg 8ames ip 38. f=fafaa wat #i gt it @@ F
asc :
layers- | € Number of E@'ﬂ%ﬁﬁ%@ - -
(K) Kabaddi (K) FagEl 6 5
(L) Volleyball L) m ¢
(M) Kho-Kho ™) @@ §
(N) Football \
(0) Rugby ((2; ;a"r S
 BesDoans gD \/f;K—ESI:I’eN»O
B. K—>L——>M-;N__)O s Pl R
C. B3Ma3N0-41 B E_);:N:J_)I;%g i
D b2MoN05k E. L::M—a»N—_:O—_:K
. In which State of India is the Taj 39. qIeHEd WA & Tohd U9 7 ferd 27
Mahal located?
A. Uttarakhand iy
B. Haryana B. &R
C. Uttar Pradesh e T TR
D. Punjab D. GSTel _
. Permanent member of the United 40. HF Tz §9 (UNO) % TTE UeH &-
Nation§ Organization (UNO) are- 0) 97
(J) China (K) ST Y
(K) Japan W S
(L) France \/’
(M) USA (M)Fﬂﬂﬁm amfE _
Choose the correct option- et faeeg ﬂer-
A. J,KandL A. LKAL x
B. J,LandM VB./J,LHM
C. JandMOnly = C WJHM
D. L and M Only b LaM

-1210-wWSWK25-REC-MOR
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PART-III
General English AT STt

41. Change the voice of the given
sentence and select the correct option:

44. ‘To be up and doing’ means-

: A. to recover from 1llness >

‘Gopal read the nov;{b o \ B0 progress satlsfactorlly
A. The novel is reati'by apa C. tobe actively engaged
B. Gopal was read the novel.

D. to be ex ressive
C. The novel was being read by P

Gopal. X - ’
\_D- The novel was read by Gopal.

42. Identify the correct]

45. Arrange the followj

their proper order-

(K) 1did not s
y spelt words from RN

word.

the list given below- "'/(I:) I went to my friend last week. -

(J) Neice \ o . L U T (M) T felt-ashamed of ; myself

(K) Llcense 7|'(/ oT— - (N) Actually, I wanted his bike for 3/

(L) Nervous 4_~ 350 W5\ O day = .

W W

(M) Guarantee (e G\/ (O) Hep politely refused to oblige me

Choose the correct option- A. LK N->M-0

A. JandK only A / N—>M——>K-+L—>O
\_B<T and M only >N->0-3K->M

C. J,Kand L + =1

7[ 7@ N->L-505KoM
\ D<K, Land M

43. Which poetic device (figute of speech)

46. Match the following-

T T Column-I
is used in the lme Beth lllEW hi blue (a) _____Prepositio (1) Raman
balloon’? (b) Verb _—HI) On )
e A (¢) Noun.— II) Handsome
A. Slmlle * sady (d) Adjective/g\f) Call
) ) Choose the correct answer from the
\}Alhteratlon v ]

options given below-
\_0< Hyperbole | A. a-IIL, b-1, c-IL, d-IV

D. Personification k_/B‘/ﬁIL b-1V, c-1, d-111

C. a-I, b-IL, ¢-IIL, d-1V
D. a-IV, b-I1, c-III, d-I

ng sentences jp

peak even a singe

> percie i SpaceForRough Work / T & % o s OOOO°
&
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Which tense is used in the sentence

‘Rahul was playing football>2

A. Past Perfect

B. Present Perfect

At Continuous

D. Simple Past

49. Identify the sentence/sentences in

resent Perfect Tense. 3
(J) Om and Sameer have discussed
about novel.

e
(K) They had played cricket.

(L) Ramesh has eaten a mango. \_—
(M) The king will build a new palace:
Choose the correct option. X

Mnd L only

B. K, L and M only
C. Jand M only
D. All the sentences

. Statement : We must follow certain
rules fgr changing active voice into
passive voice. All the tenses can not
be changed from ﬁive to passf\-/?
For the above sentence choos,e.,the
proper Assertion [As] and Reason [R].
Assertion [As] : We cannot change the
past perfect continuous tense into
passW T
Reason [R] : We use ‘by’ before the

subject used as object in passwe voice.
Both [As] and [ ] are : true, and
[R] is the correct explanation of
[As].

B. Both [As] and [R] are true, but [R]
is not the correct explanation of
[As].

C. [As] is true, but [R] is false.

As] is false, but [R] is true-

50.

Match the following-
"Column-I Column-II
(Word) (Opposite words)
(a) fragments 3, el
(b) narro (II) whole
(c) deep ~(II) broad
(d) heaven (IV) shallow

Choose the correct option-

'“4 Mblﬂ eIV, d-T

B. al\j, b-111, c-II, d~I—.
C. a-IV, b-l, c-11, d-1II
D. a-IIL b-1V, c-1, d-II

Slmheﬁ ——‘---— to go.

A. have wanted

B. had wanted

Want
\Wlts 7;,

co0 OO O Space For Rough Work/ﬁm‘aw‘%frm O OO oe
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______

C. the Q<

D. None of the above

European in Mumbai.

53 Change the follow;i

-—_—

dlscount In tax to the people.”

Akbar asked Birbal tlig_tothey were
8iving discount in tax to the

people.

bar told Birbal that they were
giving discount in tax to the

people.

C. A{gbwlrbal if they were
giving discount in tax to the

people.

I;(Akbar told to Birbal that they were
giving discount in tax to the

people.

Ing sentence into

@ 3irbal, “Wej_re’g_mf,ng

55. Arrange the following sentences in
their proper order-

(K) The spark of nobility hiddex i
him emerges at this last mgme

/
(L) It emerges in a most UNCXpPECtEy

manner. [
TR

@Then, he appears to the reader
i

a wholly unexpected light. ./
(N) Mr. Know-all is a ridiculous
person

(O) Heis subJect to all kmds of pe ».
vices. -

\AO—)K—)L—)M

e

B. NoK>L->M-—>0

C. K5 Lo-N->0->M
D. K-> O-N->M->L

54. Identify the imperative type of
sentence/sentences.

(J) Please give me your pen. ¥~

(K) They are going to market. ?
(L) We have reached on the to >(

(M) Do it now.
Choose the correct option-

\M/only
B. J, K and M only
C. L and M only
D. Jand M only

156 Match the following-

Column-I Column-II
(Word) (Similar word
(a) Brav (D L'K(Tvanta
(b) Cheat IT) Bold
(c) Brief III) Concise’

(d) Boon—"" ——~~{V}Deceive
Choose - the correct answer from the
options given below-

,(/ A. a-I, b-III, ¢c-1V, d-11

B. a-II, b-1V, c-II1, d-1

V C. a-IV, b-l, c-I1, d-I1I

7\'1/%;111 b-1T, ¢-L, d-IV. *

o000 O Space For Rough Work / 7% 1 & ford S Q OO0
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72. 12 fig g srfirer [As] S [R] 74 ST R ST HETR B 37

B T agfredty 3ol 3 8 e A. T @
ST T2 HifSre- B. W STSTHHT
SRR [As] : gy 37 Fmeor P o C. FIFEHEAT

e Wﬁﬂﬁwm

S 5 s o et 2 75. T 0 2 1 g @ TG TR

| - J) TEA
\ A TAs] 3R [R] T wrer &, 3ftt R, EK)) aq;lﬁa?x
[AS]#TH@W@T%I ; (L) NI
B. [As] 3R [R] 3 wer &, 3 [R], ) sfafyr !
[As] it &t =T 76 2 Tl fershed - A
C. [As] T &, AfehT [R] 3r@ea ) A, FITJ K
D. [As] 379 8, ©if [R] GeT 2| B. LKL
\C—Had L 3R M
73. HUId 3158 3 vtaaTeh vee B | D. LKIM X
(J) s’a v -
5 : 76. we foeim we e A )
S50 HTeTH-1 HIAT-1I |
(L) EdaEq !
(L) v’ @ B () yRg
M) A% X' . (b) 37 (I sfa
e fasheT 74- (c) ¥ (1) 399
A JIRKERHY | OREEIEIE av) &g
B IRl ad S
: = - AL a1V, b-I, c-1, d-10
C. K3ﬂTLH_Eﬁ%|X‘ J \/B./EI-’IH, b_g, C_W’E—I ’
D. L3tM ue & _ | C. a-IV, b-IIL, I, d-I '

D. a-II, b-1, ¢-III, d-IV

& # © O O ( Space For Rough Work / T %t & for siTe Q0o
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Y fore R Y e B

79. fée afaren # saw g vt e
ST %1 FE HAHFH TeTgu-
(K) & o

(L) 9 v

M) ®

(N) &

(O) o

A. K>-M->L->N->O0
\/B./E—>N—>K—&O—>M

C. i\/lH)E)—)K—)N—a»L

D.. NoL->M—->K->0

et &Ry b fmior - areRr it ot
Tt o fereyerd fomam T ®; 32w s A
ST gU forshed T = Hfere-

(K) Hramfe &

(L) T TS =T

m@%%

(N) T sinifer; € A

(O) T T aret Al

. L>N->O0—>K->M
.Lﬁﬁ%O%M%N
.L5>0>K->N->M

ﬁk%oﬁﬁjM

80. e : 3@ e # ar e Ry d g @
sh AR [As] 3 g@T a9 [R] 81 iU
0 fyeredt # @ Tl fareheq &1 =154 Fife-
AR [As] : TE, Ha, THT,
%ﬁmﬁmﬁﬁwﬁv//
aeh [R] : 3 fereft wig am welm 6t fomiwar
AT

\/Al/rAs] 3t [R) 3T | &, 3 [R],

[As] 1. 4 AT B
B. [As] 3K [R] 21 e &, AR [R],
[As] Y @&l =TT T8 &l

C. [As] 9 2, Afeh [R] 37 2
D. [As] 378 &, Al [R] ¥ 2

c0 0O O Space For Rough Work/Wﬁa?%'aW Q Q0oe
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N PART-V
[T T
General Mathematics

81. 27 gl b1 77 e 25 AT 5
the selling Price of 25 items, the find 7 % R, e 21 g

the profit or loss percentage- a?fﬁfq_ 2 ':f o = s E

A. 8% profit

81.
If the cogt Price of 27 items is equal to

A 8% oTY ﬁ—%‘iﬂ‘ i

B. 259, profit . p -
B. 25% 9™
C. 8% loss 21% o
2T e
B Tous | C. 8% =l y
: % loss Q%@
D. 100% & 25
82. ABCDisa rhombus such that 82. ABCDQEm@‘iT’T%, Forers
ZACB =f40°, then ZADB=.... ZACB=40°, 99 Z/ADB=....
A. 40° A, 40°
B. 45°
B 45°
C.. 500
C. 50°
D. 60°
D. 60°

c0 OO0 Q Space For Rough Work / & &1l & forr sre Q Q0o
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3.

Arrange the following steps to make a
circumscribed circle-

(K) Draw a line segment. ‘-

(L) Draw perpendicular bisector of
any two sides of triangle.

(M) Construct a triangle on line
segment.

(N) Draw a circumscribed circle from
the centre through the vertices of
the triangle.

(O) Consider the point of intersection
of the two perpendicular bisectors
as the center of the circle.

K—>M—->L—->N->0
K—->M->L—>0—->N

' M_—>K~—>L——>O~>N

T Q% »

K—>M—>O-—>L—>N

83. ueh afoTd o it = % for Frefafiag

ugi st 3 shn & safteg

(K) T wares g

(L) Pt ¥ et A ol s
qufgTse @i

(M) Y@REE T S bl T 1

(N) 35 & Fregst 3 et <fisf & et ST
T Toh IR0Td I STl

(O)ﬁﬁﬁaﬁﬂﬁﬂﬁﬁ%mﬁgﬁ
3l T e A1 AT

T A #I§_—>'1\_RI#—~>L-—>N—+O

M—QM—)L—&]—)N

C. M—>K—->L—>0—->N

D. K>M—>0->L—>N

. At what rate of simple interest will a

sum double in 8 years?
A. 8% per annum

B. 16% per annum
C. 12.5% per annum
D

14% per annum

84. IS U g 8 GTETIT STt Y foRE T H

gEdsmem  2p= P PXINA
A. s ) o2

\r:o
i C/ gs 12y

yj’

25%

D. 14% a4

o0 O () (O Space For Rou
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85. Match the following-
" . Column-I

*(a) Total Number
of diagonals in
a cube

(b) Total Number
of surfaces of
a cylinder

(¢) Number of
edges in a
cuboid

(d) Number of (Iv) 16

Surfaces in a

=T, b-111, c-1V, d-1I

Cone
L
(?hoose1 the correct option- B. a-I b-II, c-IV, d-III
A. a-L, b-III, c-1V, d-1I C. a-IV, b-I, c-II, d-III
B. a-L, b-II, c-IV, d-III 31V, b-I1, c-1, d-I1L

C. a-IV, b-I, c-I1, d-III

D. a-IV, b-I1, c-I, d-III

c0 00 O Space For Rough Work/ﬁﬂ%%’aw O Q0oe




" Gtatement : A polynomial is g special
type of algebraic expression in which
degree of polynomial is whole
number.

Assertion [As] : —1isa constant
polynomial.

Choose the correct answer from the
. options given below-

A. Both [As] and [R] are true, and
[R] is the correct explanation of
[As].

' B. Both [As] and [R] are true, but [R]
. is not the correct explanation of
[As].

C. [As] is true, but [R] is false.

D. [As] is false, but [R] is true.

| Reason [R] : Degree of conétant CD
polynomial is zero. :}

86. Rz : ST U fosy s 1 efisfrr
=T g & et < o e vt v “1
gL 8L

HARHR [As] : -7 T IR w\‘?@‘??%l \/J\34

T [R] wwwmwmﬁx N \

e fow e ferspet 7 @ @@t 3T -

A. [As] 3 [R] a1 a7 €, 3R [R],
[As] <t Tt =TT 2

B. [As] 3 [R] 3H1 & &, Tfe [R]
[As] i T =mear 78 2

m«q 2, Sifehd [R] 19T 2l

D. [A.s] 39T 8, A [R] T Bl

The difference between the simple
Zterest received from two different

! anks on Rs. 2000 for 2 years is
_8.50. What will be the difference

between their rates of interest?
E 0.21%

L 2.12%

t 21.2%

. 2%

87. 21 TCIT-3TT St & 2000 I W 2 I
7T STH HTETROT ST 3T 3 8.50 ¥99 2
ITehY ST U  foaaT SFA BIT?

4
</

MI% QOOO}(:MP“M) — 3.9

C. 21.2%

D. 2%

o0 O () (O Space For Rough Work / T &1 % fordf e Wi o
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88. Arrange the following fractions in

POOV({

(98]
($1
7,

ascending order-

17

K
= 24

(L)

O |-

13

M) —=
()18

11

(N) s

19

(0) T

A. Lo N->O->M-—>K

B. K> M->0—->N->L

C. K5M—>N->0-L

D NoO->M->K—->L

88. freferfaa fr= 1 ST sy 3t -

B KSM505NSL

hifsTe- . 2 "
162 QS Q6

17,14 13 A 1ol
(K) —_4(_3;—3 ‘ '-
-4 1 IQ') 9

7
(L) 3

13

(M) 13

11
15

©0) % | ‘§

AL%N»O%Merj

)-a

C. KSMo>NoOL w |
— =&

D. NoO>M—->K—->L _

70/"
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Match the following- 89. Frffad =1 -

1 N
Column-I Column.-11 HIEH-] R

(a) Sum of first 25 even (I) 625
(a) TUH 25 @SN HT (1), 625
g

numbers Y,
- | dmmm ) S AXAe
(b) Sum of first 25 odd (1) 360° A e Y epemtid
numbers' * (b) wem 25 o wemst () 360°
(¢) Sum of first 35 natural (1) 650 - T AR
numbers Ve () Yo 35 Wiba demstl  (IID) 650
' . 38 )
(d) Sum of all exterior (IV) 630 %'% T TS
les of a 9-si iy £
angles of a 9-sided M}l (d) :ﬁ.gwaﬁaﬁqaﬁ (IV) 630
polygon
TS & R STl
Choose the correct answer-
SHIOTT ST 0T
. a-III, b-1V, c-II, d-1

. a-L, b-IL, ¢-IIL, d-TIV
b .o b oIV d A. aIL b1V, c-II, d-I

. a-I1I, b-1, c-IV, d-II _ B. a-1, b-I1, c-I1I, d-IV

C. a-lll, b-II, c-IV, d-1

\_P< &L bl cIV, I
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90-' Identify irrational numbers in the List

00, iy € ré et 7 & SFARET HeATAf

given below. qea FIfSTE-
: STed | ST ST}
@)) Non-terminating and ) w e
HE&ATT

non-repeating decimal numbers

(K) 7 is an irrational number.

—— 3_\( ,.
(L) 1.535353... . T, (L) 1_;;53/__5;.7( V-2 t
Vg 75
M) 2.75 5 %‘\\11 ™) 275 X 1
92 _ ‘
Choose the correct option- 7—{/ el faered ?ﬁ- 1
A. L and M only A. FTALINM X .
B. KandL only B. A K 3L 1
C. Jand K only \C—¥ad J 3K 1
D. J,K3RL

D. J,Kand L

91.

QS8¥oova

91. fe=ferfad mioTd =Tk Rt ATH HIT

What is the value of following
thematical expression?

mathematical exp {100+(72““24)+4—3}X2+7

{100+(72ﬂ24)+4ﬂ3}><2+7 4q *

’T A. 9 r;(i, (XA
¢

A. 9 . 160 98 \_B15 | %‘F"
B. 15 C. -18

c. -18 | 5. &

D. 3 |

o0 O () () Space For Rough Work / FFEFfRsE (OO0 0.
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2. Which of the following p
divisible by 132? - & numbers are 92. frferiad 7 & -8 wed 132
fosa &2

@ 792 &
‘ ayf{ o’ () 1927 %?;}g

(K) 1980
(L) 4620 \i'ri:;'/\s () 1980 ey
(M) 968 \ X4 ) 4620 v )% '
Choose the correct option- (M) 968 % 74
A. JandKon]y‘ ' H%‘Tﬁﬁ?ﬁ
B. Jand L only 0‘/2’9: Y %) .
. | A. Fad ] ARK
C. ,Ka ’{E/G o ek
e S > B. ¥ae ] SiRL
D. I,K,Land M '
| \,eﬁaﬂu
D. IK,L3AM ~¢

29

If a and b are positive integers and
. a3 = b2, which pairs are possible?

@) a=4,b=8 » @) a=4,b=8 \—

p. J,LandM
D. J, L 3M

93. af% a 3T b ETCH qUIT & T
a3 = b2, A P Y I T &7

@ 2R
(K) a=8 b=16 lj (K) a=8 b=16 >( BXENE = ey
(L) a=27, b =281 ¥
@) a=27, b=8l MX%?MX
| (M) a=64, b=512 (M) a=64, b=512\_—
Choose the correct option- | "
et forhed TH-
A. Jand K only ' - ' ) WNW‘/ <5
| A. Fad J 3K ST
B. Jand M only s )
JIRM
Cc. J,Kand M | \ B
' C. J,K3MM %

OOOQOS}J

PR < I e &

_____________..._—-—-'-"—_
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. e

94. Choose th i for the - . e S T
€ appropriate order 10 Waﬁ 3ilt yai & foru

fOHOWing mathematical concepts and

terms to form an algebraic expression- shH Rl aazr_sﬁﬁq—
(K) (?pera?ions@ (Mathematical (K) Hfarard (TioTdi wfsramd)
_ perations) /’%
(L) Algebrajc expression (Lbjﬂ—i.—iﬂ‘—;-"’” '
(M) Exponent (M) "
| (((I;Ti Zanable (N) =y oL
onstant and 1
nd coefficients | (O) = (REJTF?T) t{ErWlﬁ?
A. KS5L5>N-5sM-0 C-—f’)ﬁq}wc 4 M—O
' 4
B. O5No>M—-SK—L Sy F ey
C. NoO->M—o>KoL - LB D M2B -
D. NoK—>50->M-L i N%O/%M"—_LK;)’L
_ D. N—)K—>O—>M—>L_ |
95. Choose the correct option from the 95. fafamir s @“_f’% ToTH W
following based on the properties of . frafiafaa 0 O g8 fAacg #1999 ¢ '
two dimensional figure “Square”- ' |
. | Gt A LT

(J) - A square is a rectangle. X
(K) ¥ o 21 X

(K) A rectangle is a square.
(L) A square is a parallelogram. (L) aﬁ@mwgl L/ AR

(M) Every angle of a square is a right |\ (M T T T i ;
angle. i ;ﬁ_ GHHIT |

Choose the correct option-
_ \AAEIsRM

A. Jand M only

B. Jand L only B. JHRL >(
C. ,Land M C. ,L3aTM
D. K,Land M | D. K, LT M >(

c0 (0 () () Space For Rough Wofkfﬁéﬁl?f%%'&mg O00o0s
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90. The area of a cjrcle is 3.14cm?

. , . Thenr 96. U I HT AAG 3.14 I A 81 qS
the radius of it wil| pe. et B St

A. 0.01 cm.
' A. 0.01 3.
B. 0.1 cm

by B. 0.1 ?){' .
C. 1cm.
D. 10 cm. \W

D. 109
+ If an amount becomes Rs. 5000 after2 97 3fe hig TRT Tk fAfv=a T S A
years at a cebtain rate of compound . 3t & e 5000 T qUT T AHA 6
interest and Rs. 8000 after 4 years at SIS T X A 4 9 &1E 8000 FIA &I AT

the same rate of compound interest.
Then what is that amount?

2, ar g T feraHt 82
AL 1300 R jf_’,/ 3}')

A. %1300 ' .

- B. %3000 - MB. 3000 €9
C. 33521 "

D. 23125

. What is the value of? k \:l‘) » \/5+Jll+ﬁ+\}29+
[{H\Far 29 +/49 ammam%" -x‘

B.3 - B b 005 = P’Wrﬁ?,}f

C. 4 / C. 4

D. 6 D. 6 T S P

aOOOO SpaCeF

IHINAITAAR o= o ser®
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S .
99. Five friends Ram, Shyam, Arjun, Ajay 99. gt forr T, T, 513 ‘ .
and Arun are sitting in a'row facing o o1 AT T T p diferd 4 93 €11,

ST 3 3Tl % el ST & T, 3y

east. Ram is sitting petween Ajay and

o \:II;]UII Shyam is second to the left of a;:mq'ifraq%@rﬁqt%l S ¥ Refy
un. Arrange their sitting from ° ,
T Aty
North to South direction- - 1 FeT & afeqor fawm &
Hifere-
(K) Arun
%
(L) Ajay (K) AT s - .
] (e
. 9444 ")
M) Arjun (L) =™ A
_ : ' N
(N) Ram L M) T VRS m
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A. KoLo>M—->N->0 (I s %
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B

B. L N->M—->K-0
. A K5L->M—->N->0

c. M>N->0O—->K—->L
B. L N->M—->K->0

. Dp. 0oK->M->N-L

C. M5>N->0->K-L
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100. Directions : For th
e below A i
ssertion

[As] and Reason [R]. Choose the

correct alternative-

Assertion [As] : The point P(0, -2)

lies on Y-axis.

Reason [R] : Ordinate of every point

on X-axis is zero.

A. Both [As] and [R] are true, and

[R] is the correct explanation of

[As].

B. Both [As] and [R] are true, but [R]

is not the correct explanation of

[As].
C. [As] is true, but [R] is false.

D. [As]is false, but [R] is true:

100. feemfdsr ; Fr= feg T A [As] R
T [R] 3 fore e forehe T

W[R]ﬁwiaﬁtm],

[As] &1 wet AT 2

B. [As] 3 [R] 21t wed &, At [R],
[As] £ et ST T el

C. [As]THT, Sfi [R] FEA T

D. [As] A 2, dfF [R] aa el
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